
Lösungen Aufnahmeprüfung 2021 

1a)   

𝟑𝟎𝒙 − 𝟐𝟓 + 𝟑𝟔 − 𝟐𝒙 = 𝟏𝟔𝒙 − 𝟐𝟎 + 𝟒𝒙 + 𝟖
𝟐𝟖𝒙 + 𝟏𝟏 = 𝟐𝟎𝒙 = −𝟏𝟐

𝟖𝒙 = −𝟐𝟑

𝒙 = −
𝟐𝟑

𝟖

 

 
 
1b) 14𝑥 − 2 − 15𝑥 + 9 = 264 

−𝑥 + 7 = 264 
−𝑥 = 257 
𝑥 = −257 

 

2a)  4 4 4 2529 448 81 9a a a a    

 

2b)  

 

  

 

2c)  

   

 

 

 

 

 

 

2d)  

 

 

3a)        23x   b)      27x    c)        9 9x x    d)       3 2x x   
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5) Lösungsvorschlag: 

67.20 6.5% 103.38 2.5%

103.38 100% 4135.40 100%

 
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Das Kapital betrug CHF 4135.40 

 

 

6) Lösungsvorschlag: 

Anzahl Gramm Sand: x 
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Der volle Eimer wiegt 1750g. 

 

 

7) Lösungsvorschlag: 

Anzahl Kisten: x 
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Es waren 125 Kisten und 2940 Orangen 

 

 

8)  

a) 15  0.6 + 30 = 39.—  

b) x  0.8 + 20 = 50 => x = 37.5 Minuten 

c)  y1 = 0.6x + 30  

 y1 = 0.8x + 20 

e) 0.6x + 30 = 0.8x + 20   => 50 Minuten 
 (oder abgelesen)  

 

 

 



9) a) 

b) y = −
ହ

ସ
𝑥 + 3 

c) y = 
ଷ

ହ
𝑥 − 4 

 

 

 


